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Daily 5: Day 3 Name:

1.1f a=1 b=2 andc=3

Write the correct answers to the equations below.

azxc=

b3-c=

2. How many numbers between 1 and 100 are multiples of both 3 and 10?
Write your answer in the space below.

3. Erin’s birthday is in exactly one month's time. Today is the 13" January
and it is a Monday. What day of the week will her birthday fall on this year?
Write your answer in the space below.

Copyright © StirlingTuition.com. No part of this paper may be photocopied, modified or otherwise reproduced without prior written permission.



|

STIRLING TUITION

4. How many lines of symmetry does a rectangle have? Write your answer in
the space below.

lines of symmetry

5. A long straight road connects towns A, B and C.

A B C
Town B is 6.4 miles from town A. Town C is 1.94 miles from town B.

Calculate the distance between town A and town C. Write your answer in the
space below.

miles
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The passage you are about to read contains five errors. Read the passage
and then answer the questions that follow it.

Staff - amazingly friendly, always happy to see you and chatty to the (Line 1)
kids. The pools, well you would have to see them to believe it! Slides (Line 2)
and water play area for the children a small children’s pool and a big (Line 3)
swimming pool. My kids have spent every minute in the pool (Line 4)
(6 and 3). It is safe enough for you to sit on your sun lounger and (Line 5)
watch them play happily. What more could you ask for. | normally  (Line 6)

would be following behind their every step. (Line 7)

Food — wasnt the best food | have ever had but there was plentyto  (Line 8)

choose from and | ate more than | needed every day. We were a party (Line 9)

of 8 including my grandparents of 79 and 76 and they ate every day. (Line 10)
My husband and father in law would have prefered more spicy food (Line 11)
but that is down to personal choice. They asked for suggestions for ~ (Line 12)
meal times as well and | suggested perhaps having a joint of meet (Line 13)
available as a safe option for people less adventurous. This was (Line 14)
implemented the next day, now you don't get that happening in many (Line 15)

places! (Line 16)

1. Each line of the passage is numbered. A word has been used incorrectly in
the passage. Tick the number of the line where the error was made.

line5

line 7
line 13
line 15

Copyright © StirlingTuition.com. No part of this paper may be photocopied, modified or otherwise reproduced without prior written permission.



|

STIRLING TUITION

2. There is a spelling error in one of the lines. Tick the number of the line
containing the spelling error.

line 1

line 4
line 11
line 14

3. A question mark is needed instead of a full stop in one line of the passage.
Tick the number of the line where the question mark is needed.

line 2

line 5

line 6
line 16

4. A comma is missing from one of the lines of the passage. Tick the number of
the line with the missing comma.

line 1

line 3
line 10
line 15

5. There is an apostrophe missing from one of the words in the passage. Tick
the number of the line containing the word with the missing apostrophe.

line 4

line 7

line 8
line 13

Copyright © StirlingTuition.com. No part of this paper may be photocopied, modified or otherwise reproduced without prior written permission.



Answers
Maths

1) 12,5

2) 3

3) Thursday
4) 2

5) 8.34

English

1) Line 13 (meet = meat)

2) Line 11 (prefered = preferred)
3) Line 6 (for?)

4) Line 3 (children, a small...)

5) Line 8 (wasn’t)
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